Sk

g
Tl
>

1. ¥¥4
¥4 SFTEE ENTEHNERGEES
JBA T Bk ) SR AT N

2. EBEAR
1) FEF4 Hir) IR BT TSk

269 H M B 4Af 74 6H24H

2) JE1THIR
£ o 8% 3H19H

3) &FEtHM
AT, FUR) I IFBFTEN O SEZ Hrg & L TRl Sz THICY%

B &7 DTN E M O A R OB - IREDHE 21T 5 b D TH D,

4) EBNE
BURROBERHIRR M ORFRLARRE DO LB

E+sZi@E SN



BN

ull
P

==
=]

EHA | BRTEE FENTHEMHNERGESE ER i W=
HH FEYE S
THH - T - R A7 # & % MR N R
FEHE S = 589, 280
LV S & =X 589, 280
2 R FLVE SO B =X 408, 880 | 2 HRFLIESHIE
1 =8
RERE E 720
FEUE R E
1 =8
o EIEER ()
4 R S = 180, 400 | 4 R ILYE SH| &
5 =y
KO E R L R E £ v
HZ £ = 1, 123, 003
HL £ = 1, 123, 003
L bR = 1,123,003 | BilhHlE: (ME3EaTE)
1 kW
BarN: i [
0.05 )1 (km2) =
Jits T & = 3, 095, 550
BRI = 3, 095, 550
BRI = 3,095,550 | {EXEEHHE
1 S0
B kA
1.8 km
FREMIT I e
1.8 km
AT &
-1- E+2mE SN )R




i
I
St
%%%
I

¥4 | BITHEE BN THEHRESREEES E BB
H H SR E
THH - T - fER] A7 % & 4 % OB ORR
1.8 km
H A = 1 402, 100
F A =X 1 402, 100
SE R £y 1 230,700 | JTEAA (FIARDLTHE)
2 &P
HFARALRNE
2 [A]
H SR ERIE
2 [=]
NI = 1 171,400 | £k
4 [a]
KBS (8]
2 [=]
KEHHT [RZEH]
2 [=]
B - IRENRAA E2V 1 649, 590
fEE - IRENHA Fy 1 649, 590
S 1 e = 1 649, 590 | VESEFHEIDSIER
1 EHT
RS EER S A
1 &
AR EEIRE A
1 &P
ERERE = 1 93, 000
[ER5 ST = 1 93, 000
B AR B X 1 93,000 | A ERLE

-2 - E+sZi@E SN



& e PN ER £
*ﬁﬁ‘ FIR =
EHA | BRTEE FENTHEMHNERGESE E BB
H H B
THH - T - fER] A7 ¥ & 4 % OB ORR
1 =
BpfrE e = 1 14, 300
Heflrier BRey 2y 1 14, 300
R A T 2 2y 1 14,300 | AEMEE
1 =X
EHER 2y 1 5, 966, 823
EiEeRlheey 2y 1 4,143, 177
At E2V 1 4,143,177
T ESEB Mk = 1 10, 110, 000
— XA =y 1 1, 053, 353
[ERE bR = 1 592, 730
MR —1 7 = 1 78,400 | tER—YV 7 (F—raTR—1
) 1 m
FEPEE o 2L K, 50mBA T, $REL T, ¢
86mm
TER—=Y 7 (F—naTr—1
) 1 m
- WE L, 50mEL T, $3E T 77, ¢ 86mm
TER—=Y 7 (F—=naTr—1
) 1 m
BHR T Y 110, 50mPL T, $R1EL 5, ¢ 86
mm
VAN I/ = 1 40,800 | n—Z Y —R=—EEV T T—
1 i

-3 - E+sZi@E SN



==
=]

m
2
%

¥4 | BITHEE BN THEHRESREEES ¥ HYE A
HH — A
THHE - THE - R BT % & 4 AR ER
LT 4 v 7 RO R AR X ! 111,680 | ERHEEARER
1 [A]
KEPEL 2L b
REAE AR
1 [A]
- WE+
B KR
1 [A]
= 7k
ENTEHER X 1 139, 250 | =N HERER
1 X
KA AT 2V 1 169, 600 | fiEbr i
1 X
BT R 2 1 51,000 | - T-HA A IERE
1 X
REEE 2V 1 2,000 | MEEE
1 i
iEE g X 1 460, 623
TR = 1 19,692 | JEMRE
1 =
Hef = 1 306, 390 | ME(E K OB 41
1 =
A FLEAZE
1 =
FRAKE (R 7 1EER)
1 =
s = 1 64,300 | R
1 =
LAt v 1 57,600 | BRiELRA (RPFHVY)
1 =
JiRE AR E F 1 12,641 | JREAZEE (i E - 1HNE)

-4 - E+sZi@E SN



i
I
St
%lljll
I

EHA | BRTEE FENTHEMHNERGESE e B FRA
H H — R
THH - T - fER] A7 % & 4 % OB AN R
1 =
B+ A = 1 1,053, 353
e =X 1 856, 647
FEIRE E2V 1 856, 647
— AR 2y 1 1,910, 000
fEHT S A F2V 1 1,212, 190
EHEEGE =X 1 1,212, 190
fihiT A Fo 1 1,212,190 | FHHEi%E(H
1 kW
FENTEE AR A
1 oM
B (ZOtsmER <) X 1 1,212, 190
DOt JFAT = 1 652, 764
— R R A = 1 995, 046
TSR A = 1 2, 860, 000
FRATSES R = 1 4,770, 000
1A | SRR B = 1 7,837, 420
Ei=5a = 1 7,837, 420
FE AR B = 1 7,837, 420 P AR

-5 - E+sZi@E SN



i

il
I

\
Y/

%lljll
I

Xoh | MTEE BN TR

THH - T - fER] A
1 =
EiSG = 848, 270
Him GREHED) =X 848, 270
revss =X 612,500 | ¥T&E
1 =X
Z DA 2y 100, 350 | FEEHNTH I L D@5
3 [A]
INBH AR S ERK =X 135, 420 | /ABEIR% SRS VER
1 e
E R = 458, 751
R = 458, 751
P i =y X 53,751 | it g (SRR E - Bminm)
1 A
%%Eﬁ%ﬁlﬁzﬁk% ﬂ 405, 000 %%Eﬁ%&ﬁzﬁk%
1 A
EEEM (ZF Oz <) = , 144, 441
Ot JFAT = , 594, 504
— I A = , 391, 055
EHATRE = , 130, 000
SERSMA = ,010, 000
-6 - E A28 SUNHT R



